Examlet 2a Foundations of Advanced Math 3/10/21

1. Let A = {1,2} and B = {2, 3}. Express each as simply as possible:
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2. Biff says that each of the unions below is equal to R. For each, either briefly support
or refute his assertion.
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4. Show thatifa,b,c € Rwitha <bandc <0, then ac > bc. Give explicit justifications
for each of your steps.

(E/I'} IR [{ 1E1S ‘)LOKQ cel ana 1,\, A - o bath
Ne -C bvj’m (omparison Au\__d‘i\bv“-\

cidee S5 that L-c ¢ 0-C¢ =

C
1 ( i L \ma A dae \ . .ro(
Prinople. 20 1ate Ocbo and ik Pl oot S0LS VI .
-— . 7 A (‘ ”(\\f\“ (’\ s A A r' u é I { 7 | 10Y)
a(-¢) ¢ bl-C) =7 il & oW we LompIn Sof .

el a ') Y '/)F .\‘»‘"‘ ‘l_/",\ )r() \ng\(\ T;b.\ \ \; f—}
Paruiple. Then, we (zdfcﬁ ’

0C-aC +o ¢ ¢ bL-PC* e =3 bCLGl

\)lj }Viﬁ (_C.'ﬁ‘a { pu 1»\ SO\

A ddihon pmﬂd\i,‘%e “Since oeLoe 1o L

' ( ) N lX . \r‘/l :\\ X 0 1Oy '.-,. \’: !
rue TOY Ao aoanC C

)



5. Vx,y,z€R, |x +y +2| < |x| + [y + Iz].
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